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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 100 objective type questions. The candidates must
attempt all the questions. There is no negative marking.

39 9s-YReer # 100 w5fF= 9v RY T ¥ wwRE @ oA ge o aem B
7T IR 3T W T8 O -

2. No Second Question-hooklet OR Answer Sheet will be given to the candidate under
: any circumstances whatsoever, ' '
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3. The candidate within 10 minutes of the issue of Question-booklet
ensure that it contains all the pages and no page is mis
the candidate should report to the Invigi

 Question-hookict.
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11.

12.

A

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test. '

srvaedl qeF-Jieer & ameer-gE o7 ol ae-w & s e 9 @ s ergsEie
ford®, smam 76 ageax gt e gden @ G w Rar ST

Do not write your Roll No. OR Name inside the Question-booklet.
797 GRAFT B ST g 7 At HgEAE T e 1

There shall be no crasing or overwriting in the answers given on the Answer Sheet,
in which case such answers shall be deemed as incorrect.
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Use of log tables or calculators is not permitted.
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No candidate will be permitied to ¢nter the Examination Iiall after the expiy
ot 30 minutes from the comumencement of the ntrancce Test.
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No candidate will be permitted to leave the Examination Hall until the expiry of
two hours from the commencement of the Entrance Test.
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
el ¢ XI
MATHEMATICS
- i
Time : Two Hours | ; [ Maximum Marks : 100
THY : q1 g} - [yE: 100

IMPORTANT

Read carefhlly the 'Instruction Jor Answering' given on the
Answer Sheet and answer the questions as directed :
ITEGA T RT W GAv ST dv B R ergdw’ enT @
| 73w ofic [Rdemgere see G

1. Largest number that divides 245 and 1029, leaving remainder 5 in
each case is :

ﬂaﬁa@ﬁwﬁﬂﬁmsﬁflozgaﬁﬁwﬁﬁﬁﬁmm
Reftr 4 daww Sa, a8 2 .
(1) 15 () 16 3) 9 . @) 5

2, If 3 is the least prime factor of a positive number a and 7 is the
least prime factor of a positive number b, then the least prime
factorof a + b is :

ﬁwm“mwmw3%wwm
bqumw?%,_aambquaﬂmwa:
(1) 2 () 3 (3) 5 “. 10

o B.T.0.
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3. Ifx+ 2isafactor of x2 +ax +2b and a+b=4, then :
?ﬁ? x% +ax +2b gUF«E'x+2% A a+b=4, a9 :
(1) a=-1,b=5 (2) a=5,b=-1
3) a=1,bh=3 4) a=3,b=1
4. 1f3, -1, —13 are zeroes of a cubic polynomial p(x), then pl(x) =
afe FBrada @gue & =i 3, -1, —% g, a9 p(x) =
(1) 3x%-8x?+11x-3 o 2) 8x®-5x%-11x+3
3) 3x3-5x2-11x-3 (4) 3x3+5x% 11x-3
5. Ifa+b=5and3q+2b =20, then value of a + bis :
A a+b=50c3a+2b=208, A a~bH AT E

| (1) 10 (2) 15 - {3) 20 (@) 25

6. Solution of the pair of equations

x 1 y-2 -1 y-2
be : | Y

' 5 1 6 3 o :
gmﬁiﬁﬁmvﬁ'x_lry_zzi,x“]—y_z—lqﬂEﬁTéhn
(1) ¢ 5 (2) (-5, 4) (3) (4, 5) (4) (5,4

- 24
7. The graphs of the equation 5x - 15y = 8 and 3x -9y = = are two

Iines which are ............. ;

(1) coincident

(2) parallel

(3) intersecting exactly at one point

(4) perpendicular to each other

(4)
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Hﬁlao—{UﬁSx+15y=83ﬂ?3x-9y:?§%ma‘r%@ﬁ?%‘ﬁ

(2) HHT=R _
(3) #A9 O farg X srafdwmEE -
(4) TH TEY B TEEq

In an isosceles AABC, if AB = BC and AB? = 2AC?, then ~£C =
T WHEEg AABCH, A AB = BCHi AB? =24C?, @& £C =
(1) 30° (2) 45° (3] 60° | (4) 90°

In a triangle, the perpendicular from the vertex to the base bisects
the basc,_ then the triangle is : | o

(1) right angled (2) isosceles.

(3} scalene (4) obtuse anglea
Wﬁgﬁﬁ,sﬁéﬁaﬂw.W'mmmaﬁiﬁqﬁﬁW% e}
gt & |

(1) HHepor (2) wHiEEg

(3) fesrramg - _ (4) SIfdrp oy

In a rhombus of side 10 c¢m, one of the diagonals is 12 c¢cm long.
The length of the second diagonal is :

(1) 8em - (2} 12cm ©  (3) 16 cm (4) 22 cm

10%@3@9@%3%%@@%12%%@
Rrepel o =g ® |

(1) 8@ 2 12%h @ 16;dh @) 22ad
cot®  tan0

+ : 18
cotB=cot30 tanb-tan30

oot 5 tang
cotf—-cot30 tan® -tan 30

(1 0 @ 1. @ @
| (5)

The value of

FAM DS

B 1D



SET/17/20/(iii)

12,

13.

14.

15.

16.

If 7cos? 0+ 3sin’ 0 =4, then the value of cot 8 is :

a2 7cos?0+3sin26 =4, FF cot O H A ©

1 -

: A '
"\/—3 (2) +3 3) 1 | 4) 0O

; : : 2
The perimeter of a rectangle is 82 m and its area 1s 400 m~. The
breadth of the rectangle is : '

(y 9m (2) 16m (3) 20m (4) 25m
WWWWBQIﬂ%GﬁTW4OOﬁﬁ%1W?ﬁI
g §

1) 9% (2) 16 (3) 20 @ (4) 25 =
The sum of n terms of the A, P. 42, J8 . V18, .JEE, ..... is

o AT S0 V2, V8, VI8, V32, L F n qEL @ AT B
(1) %n[n +1 @) V2nmn+1)

3) %tn “1)n +2) (4) Y3+l +2

If a point P divides the two points A(5, -2) and B(9, 6) in the ratio
3 : 1, then coordinates of Pare : '

oft wh g P A fagsll A(S, ~2) 3T B(S, 6y 3: 1% Hgua d
ReafoTe R 2, o9 fag P Fdens ¥ |

(L) 4,7) 2) 4, 8) (3) (12, 8) (4) (8,4

If two vertices of AABC are A(-1, 4) and B(5, 2) and its centroid is
G(0, --3), then the coordinates of C are :

i AABCE @ S A1, 4) 3T B, 2) I FAH T GO, 3 3
o5 C & et €

(1) (4 15) 2) (4,-15) (3 (15, 4) (4 (<15, -4)

(6)
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[n the given fig. AD is the bisector of /BAC. If AB = 10 cm,
AC=6cmand BC= 12 cm, then the value of DC is

far Q@ REr #, AD FIv1 BAC ®1 wizyss 3, ot AB - 10@#1,'

AC=68f SIRBC= 1280 &, @ DCeH o4 &

A
10 cm 6 cm
B D C
4+ 12cem > s
(1) 4.5cm : © {2} 3.5cm
(3) 4cm 4) Secm

An aeroplane at an altitude of 200 m observes the angle of
depression of opposite points on the two banks of a river to be 45°
and 60°. The width of the river is : '

1 : 1
1y 9 s ool 1-——
(1) 00[1+_,_3Jm . (2) 2 ( {_g)m
@) 2000 ++3)m (4) 200 -+3)m

200 W F FEE 9T wER wEN § 9N @ & R 9 Bdy

Frgetl ®1 ST HOT dEan 450 o 60°% | 7t it g B -

.(h 200(1+—J%J1ﬁ (2) 200(1~:[_%J ot
@) 200(1++3) (4) 200(1-V3) s

In decreasing the radius of a circle by 30%, its area is decreased by :

TE I B B N 30% B N R @ S w9 8 oy 3

{1} 30% (2} 49% - kBY - BG4 - A 60%

7y P.T.0.
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20,

21.

22,

23.

The number of solid spheres each of diamcter 6 ¢m that can be

madle by melting a solid metal cylinder of height 45 cm and diameter
4 cm is

45 T Hard ofx 4 AW wwE B U mig B Sl T I 9
i fUgaTer? 6 i sgrd B o1 T A9 91 I wEdl ¥

(1) 3 2) 5 | @) 6 - 4) 9

If mode of a series exceeds its mean by 12, then mode excecds the
median by ..o . o

afy aoft w1 agers Tad AT @ 12 SNEw e, 09 WgAH D
111173 ol = O AR B |

{1} 2 2) 4 (3) 6 (4) 8

A student calculatcs that the probability of his winning the first
prize in a lottery is 0.08. If 6000 tickels are sold, how many

tickets has he bought ?

@%ﬂ?&ﬁwaﬂm%mmwﬂﬁmwmuw
7+ Hlﬁch?ﬂ 0.08 &1 Ay 6000%?3%?[ T oawe feadl fewd

(1) 120 - (2) 240 (3) 480 (4) 760

The cumulative frequency table is useful in determining

{7 (- T, :

(1) mean ' (2) median

(3) mode (4) all of these

Fadr areerar el s Frepre o IOl Sl ¥
(1) e : (2) WA

@) AZTE @) T [ A
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If cos (o + f3) = O, then sin (o - ) =
4le cos (o + B) =0, sin (- )=
() cos2B  (2) cosp (3) sin 2a (4} sin «

A fraction becomes —g when 1 is added to each of the numerator

‘and denominator. However, if we subtract 5 ﬁ_‘om each _then it

1 oo
becomes 5 the fraction is :

U ST B TR SiT BY G A 1 e u{aggaﬂw%,aaﬁ’ﬁ
5.5e 'FHE%@?W%HEIW%

7 13
B g - g

O en

S
(1) 3 | (2)

Which one of the following quantity remains unchanged in parallel

: combmatlon ?

(1) Voltage - ' (2) Current
(3) Resistance (4) None of these

ﬁw%%aw@rﬁﬂ?ﬁmﬂﬁﬁﬁf%ﬂwwwﬁmw g7
TE Faordr & 7

(1) froe=e | (2) =T

(3) ey (@) =T & Fg A
Inside water, an air bubble behaves like :

(1) Flat glass plate - {2) Concave lens
(3) Convex lens (4) Plane mirror

M%Wﬂﬁéwwwﬁ?ﬂmwm%

(1) 9uad W wle (2) Haaad &|

(3) Suw e (4) Hrsy gqeop

(9 P.T O,



SET/17/20/(iii)

28. Light enters from water into glass plate, the refractive index of

9 : ;
glass is g with respect to water and specd of light in vacuum and

glass are 3x108 m/s and 2% 108 m/s respectively. The refractive

index of water with respect to air is :’

WQT,W@#@@@E&@%W%M%W&H%@

: 0 . -
STUERT Ik = ¥ oden syl @ @i fMgld @ @ HoOHAn

3.1055/@ aur 2.10° A& ¥ aF @1 TR A1y % HTuE
g '

2 4
(1) P (2) = | (3)

8
. (4] .

S

29. The power of combination of a convex lens and concave lens of the
same focal length is : '

(1) Zero Dioptre

(2) Infinite

(3) Inverse of focal length of convex lens

(4) Inverse of focal length of concave lens
Wﬁw@%ﬁﬁ@maﬂﬁﬂ%ﬁgﬁﬁaﬁ%:
(1) [ sHEex

('2') A

(3) Il S & WRT T F HEH

@) o @ B R E B g

(10)
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Neutron particle is heavier than which one of the following
particle ?

(1) Proton (2) Electron (3) Nucleus (4) Positron
=gt o PpataRad § @ fEE w9 | 9 g ® 7
(1) s (2) gl (3) s (4) 9ifSTEE

An object is placed at the centre of curvature of a concave mirror.
The distance between its image and the pole is :

(1) equalto f (2) between fand 2f
{3) equalto 2f (4) greater than 2f

T A, U% mﬁd'ﬂf & ol bs UL TET FART B 2HE
faters o ga & g & gh ® -

(1) f & &y (2) fud 2f & =
(3) 2f & awEE ' (@) 2f A et

Which color of light is used in the headlight of a car in a foggy
day ? i

(1) Blue 2) Yellow (3) Black (4) Red

%gﬂfﬁamﬁwﬁaﬁr%ﬂ%%—ﬁ@ﬁfmﬁaﬁrwhﬁww
: _

W) @) @ wm @ o

The least distance of distinct vision for a young adult with normal
vision is about :
(1) 25m (2) 285em @ (3) 25cm (4) 2.5m

(1) 25 @ 25% (@ 258w (@) 2.5

(11) - P.T.0.
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34. The work done in moving a charge of 2 coulomb in a potential

35.

36.

difference of 12 volts region is :
(1] 6 Joule (2) 24 Joule (3) 48 Joule (4 é Joule

El;ﬁa;@ F fvarae & F 2 @ B AR W ol § R

() 670 (2) 24 Sja . (3] 48 S (4] Sl

L
g

Current through a resistor is :

(1} Inversely proportional to its resistance

(2) Directly proportional to resistance
(3) Independent of its resistance

(4) Directly proportional to the square of the resistance

o AR @ e At o e ¥

(1) 5% A" & SPhATA

(2) gy & gHEE
(3) ¢HH WUy q¥ MET AT

(4) sy & T @ FEEgdEl o 8

The resistance of a wire of a given material of length [ and area of
cross-section A is 4 ohm, If length of the wire is I/2 and area of

cross-section 2A for the same material, then the resistance will be :
. _

| 3 1Q - L
1 49 @ 20 1 @ 5o

(12)
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Qzﬁwﬁ%zwéaw-AagmuﬁE@E%qzsquﬁﬁa4
ST | afd S gard @ qR B @ /2 qur S gReEse 24
21, o1 gfade 2ny | |

(1) 4 s 2) 2 afm (3) 1 ofw (4) i—aﬂn

Which of the following terms does not represent electrical power in
a circuit ?

ﬁwﬁﬁaﬁiﬁ,ﬁ?@%@aqﬁwﬁﬁgﬁsﬂ%qﬁﬁaﬁﬁm%?

: 2 _ 2
M R @ R @ v ] =
At the time of short circuit, the current in the circuit :

(1) reduces sustantially - (2) does not change

(3) increases heavily (4) varies continuously
W AT B w9k § e

(1) ‘&% g Shr B (@) uRRafda «& 2t &
) orateer g7 et @ (4) srmRIR Sverd el @

Voltmeter has high resistance so that :

(1) It takes large current from the circuit

(2) It takes a'negligible current from the circuit
(3) It can be connected in series

(4) None of these

AeeHie] & Fea afedy w1 S ¥ R -
(1) 38 9Ty & aiffes g aar 2

(2) 9% uRuy & == gm7 far 2

(3) =E AvfeEw F sher o A 2

(4) ¥ 8 & & T

(13) P.T.0.
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40. A person with hypermetropia :

4.

(1) can see distant objects clearly but cannot see nearby objects
distinctly

(2) can see nearby objects clearly but can not see distant objects
distinctly

(3) finds it difficult to sec nearby object comfortably and
distinctly

(4) cannot see nearby objects clearly and distinctly
fefgfte @ anider 2

(1) QTmmaﬁﬁww%@m%mﬁwﬁmﬁﬁ
HAT Bl 2@ FHdl

(2) Hﬁaﬁaﬁaﬁa@aﬁaﬁw%@m%qﬁ-g{aﬁﬁeﬁﬁ

(3) waﬁm-aﬁa%?awﬁawmxr—mémﬁﬁ?hﬁ?ééﬁi
% ;

(4 wa&a&pﬁﬁmﬁ%awm@ﬂ—mﬁ@w%

A white light beam entering a glass prism splits into seven colour

due to :
(1) Reflection (2) | Dispersion
(3) Diffraction (4) Interference

e Ay wep A9 G i
Wmﬁﬁﬂrﬁhﬁ@ﬂrﬁ

qrEde (2) e

& Fron o 9991 F vy " o oH
g7
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The magnetic field inside a long straight solenoid, carrying a
current ;

(1) is zero
(2) 1is the same at all points
(3) increase as we move towards its ends

(4) decreases as we move towards its ends

@wawgwwmﬁ%wg gy A
(1) <= 8k &

(2). & famgall ﬁ-m g 2

(3) %ﬁ{ﬂ%ﬁ‘ﬂ‘fﬁﬁﬁ? fﬂ%%a’rm%

(4) TEF RO W ot T oT geaqr &

An electron enters a magnetic feld at rlght angles to it as shown
below. The direction of force acting on the electron will be :

[ X

} . Mmagnetic
/ | " field
P
direction ol motion
of electron
(1) to the right . (2} out of the page
(3) into the page " (4) tothe left

. (15) ro P.T.0.
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44.

45,

0 FA4SHT T A e @ Ty T ] ¥ o o fom A,
Rogt 941 | el T @Y At aw e s

[
/ _, T &
) >

gorgFe el bl T

AT feem |
(1) s @i | (@) o1 & arEx F A
(3) US H eTET W AT (4) =i T

A body of mass 5 kg undergocs a change in speed from 30 m/s o

40 m/s. The change in its momentum (s :

(1) Skgm/s . (2) 50gm m/s

(3) S0 kgm/s ‘ (4) 50 kgcm/s

5 frar oA A O 9w, b A ¥ qftads 30 /A @ 40 W/4
gl B | gueh waw F oftges B

(1) 5 Ry /2 (2) 50 wm /9

(3) 50 frm Hl/A (4) 50 o SH/H

If the disiance between two objccts A and B 1s halved, the
sravitational force between them :

(1) ishalved (2) hecomes 4 limes

(3) remamns unchanged (4) becomes:two times

Ay @ aegel A gwr B & @i # 3H endl T A I Sl
Gl QT;@W;\EUT TH - ' :

(1) omer & S @ (@) @ A T B
(3)  argfeafda el 2 4 T & S B

(16)
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A 500 gm packet having volume 300 cm3 is placed in water
(density of water = 1gm/cm3). The packet will
(1) float in water {2) sink in water
(3) displace 500 gm water (4) displace 500 ctm3 water

500 I & Uk YHe s Agda 300 S0 & gt & wEr
B (arlt o e = 1w ae), e

(1) o & &% (@ w5 e
(3) 5oo;rmm=ﬁfawrﬁféra-ﬁm (4) 500 A qeRt weri

A force of 10 Newton causes a displacement of 2 m in a body in its
own direction. The work done by the force is :

(1) 5_.J0ulc | (@) 20 Joule

Joule

onf—

(3) 2.5 Joule _ (4)

IOWW.@WkﬁﬁgﬁWﬁﬁﬁﬁﬂQﬁﬁwaﬁﬁT
&1 8 3 Brar et §

(1) & 9= (2) 20 S&
(3) 2.5 5 - (@) é e

A body of mass 5 kg falls from rest from a height 10 m from
earth's wurface. The kinetic energy of the body on the earth's
surface will be (if g = 9.8 m/sec?) :

(1) 490 Joule (2) 50 Joule
@) Zero . (4) 49 Joule

A7) P.T.0.
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49,

50.

51

5_MWﬂWW,WﬁgﬁﬂaﬁmﬁmﬁTaﬁ
Gﬁaﬁﬁﬁmﬁ%m@aﬁnﬁﬁwg&ﬁ%aﬁam@?ﬁ(aﬁg=
9.8 H1/H7) : | |

(1) 490 T @) soaw
“ (3) IH _ @) 49 S

A sound wave has a frequency of 1 -KHz and wavelength 0.8 m.
The speced of sound will be :

(1) 80 m/sec (2) 800 m/scc
(3) 8000 m/sec (4) 80 cm/sec

o @R i i R 1 Rereest aur avret 0.8 M R

(1) 80 i/ (2) 800 #/4

(3) 8000 #H/A (4) 80 aHi/|

In which Imedian sound travels fastest ?

(1) Solid @) Liquid

(3) Gas | ~ (4) None of these

frg memy # i @ 99 Afepas grt ¢

(1) @r (2} &

(3) " @) T & g A
Which of the following is not a gencral property of gases ?
(1) Thigh fluidity (2) high compressibility
(3) large volume . (4) high density
By #f @ B4 TG @1 w@EEY QT 78 8 7

(1) S T (2) oo FdgH

(3) sifern ST (4) a1y g

(18)
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Which of the following pairs will not show diffusion ?

(1) Chlorine and Oxygen (2) Chlorine and Bromine
(3) Water and Oxygen . (4) Saltand Sand

ot § @ B8 g7 R (diffusion) 787 asfem ?

(1) mﬁﬂﬁwﬁn-mtﬂﬁaa (2) FOH N s

(3) = oM aiferdorr @ TR

At what temperature the thermometer readings in °C and °F are
the same ? | '

WWW‘TWWMWWMWE@H?
(1] —40 (2) 273 3 0 (4) 100
A gas can be liquified by ;

( 1) ingreasing temperaturé.and decreasing pressure

{2) decreasing temperature and Increasing pressure

(3) mcreasmg both temperature and pressure

(4) decreasing both temperature and pressurc

- TF N omw A uRaRfa Rear om e ®

(1) 9 FGIHT T2 <" FY Terpy
(2) AT TR A AT B grnT
(4) @9 SR /9 T FH geEHe

(19) P.T.O.
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93.

56.

57.

Which of the following undergoes sublimation ?

(1} Camphor (2) Sodium Chioride

(3) Chalk (4) Sugar
frs 8§ ¥ fpger Seaa- g gl B 7

(1) =X (2) “HE
@) @ (afemm) @) =R

Which of the following is a non-metal ?

(1) Lead (2) Cadmium (3) Silicon (4) Calcium
Frey & @9 ITUg O B

1) o) defimm () R (4) R

An emulsion is a colloidal solution formed by mixing of

(1) two miscible liquids

(2) two immiscible liquids

(3) a soluble solid and a liquid

(4) an insoluble solid and a liquid |
W%aﬁwﬂﬁﬁﬁaﬁ@w%?ﬁﬁ@{aﬁwaﬂm%:
(1) & fcEehid = | |

(2) D afrRasts =

(3) b geEi 2 AR TF 2

(4) weh FgeHLT S afrr s 53

(20)
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59.

60.
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Which of the following is a mixture ?

(1) Vinegar (2) Ice

(3) Copper Sulphate " '4) Carbon
P 3 @ o Froror 3 7

(1) fereem 2 %
@) T (T we) (@)

Which of the following has a liquid dispersed phase and a gaseous
dispersion medium ? :

(1) cloud ' 2) gel
(3] smoke -(4J soap bubble

How many times an atom of Sulphur is heavier than an atom of
carbon ?

{1} twice the Avogadaro number (2) 8/3

(3) 3/8 | " (4) None of these

P.T.0
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61.

62.

63.

64.

The number of moles in 60 g of carbon is

(1) 4 (2) 5 |
(3) 4 x Avogadro number (4) 5 x Avogadro number
60 Iy S F T B e Bn o

(1) 4 | (2) 5

(3) 4 x TARTET Tl (4) 5 x UARE HEA

The reaction CH, =CHg + Hy -» CH-_:) ~CHj is an example of :
(1) = oxidation (2) dehydration

(3) addition (4) s_ubstitution

CH, - CH, + Hy » CH3 —CH3 sAfafEar S ¥
(1) STEFRHHTT (2) Feiad
(3) wErA /EHHT o (4)  SferETdE

A white precipitate 1S obtained by adding commoi salt solution

into a solution of :

WW%W@%@W‘%EW@W%GWWW

The acid present in the stomach of a healthy person 1s :

(1) acetic acid (2) oxalic acid
(3) hydrochloric acid (4) nitric acid
Waﬁﬁ%mwi‘iwﬁaﬂm%:.

(1) wEifes FT (2) IrRfa® o

(3) RECIE I ECIRC RS (4) EiEH AT

(22)



65.

66.

. 67.

68.

69.

SET/ 1720/ (iii)

On heating a hydrated salt to a temperature of 100°C Plaster of

" Paris 1s obtained. ’I‘hc salt is :

wwwﬁloocwwﬁmwwm
A ud e Bl ae sgwr 2

(1) CaS$0,.2H,0 2) CaS0;.2H,0

(3) CaCO5.2H,0 " (4) CaCly.2H,0

An acidic oxidé is formed by the element :

HRIT HTFALE T4 I o 2 . |

1) H 2) K (3] Ca 4] C

Which of the following electronic configuration corresponds to that

- of a metal ?

‘ﬁﬁﬁ@fﬁ?{-wmﬁiﬁﬁﬂ?ﬁa@%%m%aw%?

1 2,6 2 2,8 - (3 2,81 (4) 2,87

Which of the following molecules: possesses both single and
double bonds ?

(1_) nitrogen (2) cthlene | (3) oxygen ' (&) éthyne
ﬁrﬂwﬁarﬂ?ﬁe?@ﬁW'wwa:qmﬁaﬁ% v
(1) msfltﬁ (2) qd= (3) it (4) YT

During galvanization iron is coated with another metal. The other
metal i$ :

%ﬁw@am%?ﬁm&ﬁ%ﬁ@f@@@ﬁmﬁﬁﬁﬂéﬂﬁ
A C-GAUL ST | _

(1) Cu @ cr 3) sn A zn

L PTO
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70. The pair of clements both of which exhibit thc property of

1.

12;

catenation :
{1} carbon and calcium
(2} carbon and silicon

(3) silicon and magnesium

- (4) silicon and chloride

ﬁlﬁrﬁﬁﬁ?—waﬁ?ﬁfﬁﬁﬂfﬂﬁ@ﬁﬁﬁﬁ%?l
(1) ~aprst ofT fcaad
(2) wpref ofrr Fafdrest
(@) fafert IR Ae=ilisrag
(4) Faferpi ofiw F@REe

td

The volume of a gas at 0°C is !
0°C @ g RREl T BT eTEde 2l B
(1) <0 (2 =0 3) >0 4) 20

in laboratery, accidently a few drops of concentrated acid gets

- gpill over the hand of a student. What should be done ?

(1) Neutralize the acid with strong alkali

(2) Wash the hand with saline éolution

(3) After washing the hand with plenty of water apply solution of
sodium hydroxide on it

(4) Wash the hand immediately with plﬁl’l‘t}" of water and apply a

paste of sodium hydrogen carbonate

(24)



73.

74,

75.

SET/ 17/20/(iii)
WWﬁ%ﬁ&ﬁﬁ@QWaﬁraﬁ@éﬁwﬁwﬁ%WJ
I BEE K, S8 FRM UETM & 60 .y e mmew ?

(1) waﬁrwwmwﬁmmaﬁ%‘q
(2) = N 99HE ST T 9 anfRy

(S]Wﬁagamwﬁﬁ@ﬁ%ar@mmm@%
Eﬁfvraﬁiﬂﬁtrmmaﬁq

(4) maﬁgm&aﬁwﬁ@rzﬁﬁ%mﬁi@qm@maﬂzﬁﬁa

The electronic configuration of A is 2, 8, 2 and that of Bis 2, 8, 7.

* The formula for the wmpound formed between A and B will be :

_aaAaﬁTBasrs%ar{rﬁasiﬁmaamsrz 8 2Nt 2, 8, 7 8

AR BF N a1 g o
(1) A,B, (2) AB, (3) AB, (4) A,B

Correct order of reactivity of metal Zn, Cu, Fe & Ag is -

Zn, Cu, Fe 3lX Ag argst @1 fpnsforr &1 98 g 8 :

{1} Fe>Zn>Ag> Cu (2) "Cu>Ag>Zn> Fe

(3) Zn>Ag>Fe>Cu (4) Zn>Fe)Cu>Ag

A gas decolourizes alkaline KMnoO, solutnon but does not give
precipitate with AgNO; is : :

az?rﬂﬁﬂmerMnmﬁm:faﬁv@qm%é%AgNos%
e HER TE g B

(1} CH4 (2) CQH4 (3) OQHQ 4 C2H6 ,

(25) P.T.0,
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76. The original inhabitants of a country are called :
(1) residents - (2) natives

{(3) aborigines (4) ancestors

77. Which of the following is a reflexive pronoun ?
(1) Himself (2) His
(3) Hers (4) Theirs

78. What is the plaral of the word OASIS ?
(1) QOases (2) Oasises
(3} Oisis (4) Oaesis

79. Choose the correct preposition for the blank :

'l have been studying in this school ............... the last five years'.
(1) since ' (2) at
(3) mn . (4) for

80. The correct one is :
(1) Brir.lg the book me that is lying on the table. |
(2) Bring the book that lying on the table to me.
(3] Bring to me the book that is lying on the table.

(4) Bring me the book that is lying on the table.

81. Neither of them .............. . come,
(1) have (2) were
(3) was (4) has



82.

84,

86.

87.

88.

SET/17/20/(iii)

Which one is correect ?
(1} Pneumonia (2) Pnemonia
(3) Pnehmonia (4) Neumoniah

Which is the correct answer to fill in the blank ?

'The principal ........... our requests'.

(1) Turned down (2) Turned on
(3) Turned at ' (4) Turned off
A place for housing aeroplanelis called :

(1) Haven "(2) Hangar
(3) Harbors . (4) Heath

"Ten thousands saw I at a glance, Tossing their heads in sprightly
dance". These poetic lines are from which of the following poems ?

(1) The Tables Turned (2) Lyrical Balladl

(3) The Daffodils (4) Perfect Life

‘B & gamg ®

(1) sreadivmy | @ fap

(3) YN 4) FHurg

Taedy fhe v &1 = B 7 |

(1) aH | () agHa

(3) sro (4) fadsh

TR o Ryerredt grex ¥ - ,

(1) s/Erer ) (2} faeoer

B eTgE | (4) TEETTo
(27)

7T, O,
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89.

90.

9.

92.

Q3.

94.

95.

GRS o1 o e ) oS- S

(1) @39eh el sl Aifeat @0 i @

(2) =ar feememy 6T @t foas |
(3) =9 framey 3 &= o Aot ¥
(4) TR H o fmaET €

‘Wﬂﬂﬂﬁ,ﬁ:ﬁiﬁﬂaﬁ’ﬁaﬁw%:

(1) <A (2) THE '(3) SO (4) ©UH
‘el e TEEETE B

(1) wdd (2) e (3) ST (4) Fhars
(1) wfan (2) AT (3) Erﬁ (4) afren
e I e 1 e A

(1) =T (2) SIS [3)' EECIEN] (4) TS
‘Eﬁs?ﬁq'cm’ﬁmaﬁﬁrﬂﬁm%?

(1) g 9 (2) e

o) R EE @) R
‘ﬁ%ﬁm’ww@aﬁ%:

(1) &t JEE (2) @RI A

(3) ST FLA | (4) #t # ot ST

(28)
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97.

98.

99.
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Karang, which has become India's first cashless island is located
in which state ?

(1) Gujarat (2) Manipur (3) Kerala (4) Mizoram
T, ST 9T 1 98T DI &Y T B, e oy o Rerm 8 7
(1) I (2) =g (3) @ (4) PeRH

Who is the present Governor of Arunachal Pradesh ?

 (1)° Banwarilal Purohit = (2) Vishw;mgth Shetty
(3) P.B. Acharya - - (4) Krishan Kant Paul
AEGT A3ST B aﬁ#ﬁi’rmw B4 8 7
(1) e gtz (2) Frsasmer Q=ft
(3) dlo Hlo =R (4) e oteT

The Rajiv Gandhi National Avmtmn University (RGNAU) is located

| in which state ?

(1) Andhra Pradesh . (2) Telangana

(3) Uttar Pradesh | (4) Mad‘ﬂya Pradesh
Tﬁﬂa?ﬁ&ﬂﬂ@qmﬁﬁﬁaﬁa%ﬂwﬁﬁaﬁ%?
(1} S~ o=t (2) AT

(3) ST wRw (4) Teg sRar

Mohit Ahlawat is associéted with which Sports ?

(1) Chess (2) Cricket (3) Boxing - (4) Badminton
e oteaia e @t § wataw 27

1) W @) BT @) AR () debre

(29) - pio
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100. When and where the first Mctro train starteci in India ?

(1) Mumbai in 1864 (2) Kolkata in 1984
(3) Rajasthan in 1870 ~ (4) Assam in 1999
WA # usel A9) 29 B9 oK el gE gE ot 7

(1) w2 o 1864 (2) @HHIT § 1984

(3) Toreens # 1870 (4) erEH #1999
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